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Note — Attempt Five questions in all. Question No. 1

is compulsory. All questions carry equal

marks.
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8. 1 .Which according to you, is the most acceptable theory

of the origin of state ? Give arguments in support of your

answer.
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_“Liberalism is an ideology of the West, ill-suited for non-

Western Countries.” Examine the statement.
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Does the welfare state have a future in an era
of globalisation ? Give reasons in support of your
answer.
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Give arguments for and dgainst India switching over to

presidential system.
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Examine the process of the rise of new social classes in

Indian society during the British rule.
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What is criminalisation of politics and politicisation of
criminals ? Which of the two is more dangerous for Indian

polity ?
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Do you agree with the view that political parties indulge

in vote bank politics and divide the society to serve their

political interests ? Give arguments in support of your

answer.
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“Indian political system is unique in many ways and can
not be fitted in any particular model.” Examine the

statemé nt.
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